& 4
x>0 TERSINZBHL f(x) BDIROFMEZTTZT L &, TOMWIZEZ X,
ZF (1) fln>0, fl)=1
(i) fle+1)=xfx)
(i) 2=x<y 2BiE, flx)<Aly)

(D) f2), f3), f4), f5), f(6) DEZTNENRD L,
(2) BSREnIZH LT, fin+l)=n! THDHI L EHE,

3) f(%):A Li<, BRE nICH LT,

A

1 2n—1 2n—3 3 1
f<n+§>_ 2 . 2 .....§.§

L2 T L aRE,

1
- . f<"+§> 1 ‘

4) 3) LADLET, B n=2 Ik LT, ROFNELXDLY IO Z & ZRE,
dn +1 1 1 1 1
o () (e )<wE

<B4 (i)

FERXITH LT, 3ELTXIC5FE VX @ TR X &l TRIZLET5,
1
f<"+§> T \
—> 3 X—= (xgz) %:{%fz‘é—o %@}:%7
f(x) 3
1

(5) f<—>=B, f%):c L4, S =2 1ok L,

(W= AP &

S oI, BB flx) DR (V)

TG T 37\t (3n)? B3
7z,
%.G_%Xl_%).....@— 9(’;;)32><%

LD T L aRE,



